

Event Information

Number: Bid 62-2021

Title: Construction Materials Sampling, Testing and Special Inspections

Type: Competitive Bid

Issue Date: 6/7/2021

Deadline: 6/21/2021 02:00 PM (ET)

Contact Information

Contact: Brian Marcum Address: Central Purchasing

Government Center Building

Room 338

200 East Main Street Lexington, KY 40507

Phone: (859) 2583320

Fax:

(859) 2583322 brianm@lexingtonky.gov Email:

L.E. Gregg Associates Information

Address: 2456 Fortune Drive, Suite 155

Lexington, KY 40509

Phone: (859) 252-7558 Fax: (859) 255-0940 Web Address: www.legregg.com

ONLY ONLINE BIDS WILL BE ACCEPTED! By submitting your response, you certify that you are authorized to represent and bind your company and that you agree to all bid terms and conditions as stated in the attached bid/RFP/RFQ/Quote/Auction documents.

Jason Ainslie	JAINSLIE@LEGREGG.COM		
Signature	Email		

Submitted at 6/21/2021 9:41:49 AM

Response Attachments

Bid 62-2021 LFUCG CMT SI (LE Gregg Proposal) 6.21.21.pdf

Bid 62-2021 L.E. Gregg Proposal

Bid Lines

	d Ellics				
1	Field Technician Services to Include -				
	Concrete Air Tests				
	Concrete Slump Tests				
	Concrete Cylinders Made				
	Mortar Cubes Made				
	Subgrade Moisture/Density (Soil)				
	Engineered Fill Moisture/Density (Aggregate)				
	Moisture Content (Soil)	_		_	
	Quantity: 1100 UOM: Hourly Rate	Price:	\$50.00	Total:	\$55,000.00
2	Concrete Cylinders Broken				
	Quantity: 1000 UOM: Each	Unit Price:	\$15.00	Total:	\$15,000.00
3	Motor Cubes Broken				
	Quantity: 50 UOM: Each	Unit Price:	\$15.00	Total:	\$750.00
4	Shotcrete Panel Test (includes Panel)				
	Quantity: 10 UOM: Each	Unit Price:	\$300.00	Total:	\$3,000.00

5	Asphalt Density				
	Quantity: 20 UOM: Each	Unit Price:	\$50.00	Total:	\$1,000.00
6	Rock Bearing Capacity				
	Quantity: 10 UOM: Each	Unit Price:	\$50.00	Total:	\$500.00
7	Special Instructions (per hour)				
	Quantity: 50 UOM: Each	Unit Price:	\$50.00	Total:	\$2,500.00
8	Monthly Report by PE or PM				
	Quantity: 24 UOM: Each	Unit Price:	\$120.00	Total:	\$2,880.00
9	Particle Size Distribution (Soil) (Line excluded from response total)				
	Quantity: 1 UOM: Each	Unit Price:	\$45.00	Total:	\$45.00
1	Atterberg Limits				
0	(Line excluded from response total) Quantity: 25 UOM: Each	Unit Price:	\$30.00	Total:	\$750.00
1	Plasticity Index		****		¥ 22 22
1	(Line excluded from response total)		***	[#750.00
	Quantity: 25 UOM: Each	Unit Price:	\$30.00	Total:	\$750.00
1 2	Soil Classification (Line excluded from response total)			_	
	Quantity: 25 UOM: Each	Unit Price:	\$10.00	Total:	\$250.00
1	Density - Permeability (Line excluded from response total)				
	Quantity: 25 UOM: Each	Unit Price:	\$240.00	Total:	\$6,000.00
1	Project Manager				
4	(Line excluded from response total) Quantity: 1 UOM: Hourly Rate	Price:	\$85.00	Total:	\$85.00
1	Professional Engineer (P.E.)				
5	(Line excluded from response total) Quantity: 1 UOM: Hourly Rate	Price:	\$120.00	Total:	\$120.00
1	Field Technician	1 1106.	ψ120.00	i otal.	ψ120.00
6	(Line excluded from response total)		.		
	Quantity: 1 UOM: Hourly Rate	Price:	\$50.00	Total:	\$50.00
17	Laboratory Technician (Line excluded from response total)				
	Quantity: 1 UOM: Hourly Rate	Price:	\$50.00	Total:	\$50.00
1	Clerical (Line excluded from response total)				
0	Quantity: 1 UOM: Hourly Rate	Price:	\$40.00	Total:	\$40.00

Response Total: \$80,630.00